Duffin and Schaeffer Type Inequality for Ultraspherical Polynomials*

BORISLAV BOJANOV AND GENO NIKOLOV

Department of Mathematics, University of Sofia, Blvd. James Boucher 5, 1126 Sofia, Bulgaria

Communicated by T. J. Rivlin

Received August 17, 1994; accepted in revised form February 6, 1995

We show that

$$\|f^{(k)}\| \leq \left\|\frac{d^k}{dx^k} P_n^{(\alpha, \alpha)}\right\|, \qquad k=1,...,n,$$

in the uniform norm for every real algebraic polynomial f of degree n which satisfies the inequalities

$$|f(x)| \leq |P_n^{(\alpha, \alpha)}(x)|$$

at the points x of local extrema of the ultraspherical polynomial $P_n^{(\alpha, \alpha)}$ in [-1, 1]. © 1996 Academic Press, Inc.

1. INTRODUCTION

Denote by π_n the set of all real algebraic polynomials of degree less than or equal to *n*. As usual, $T_n(x)$ denotes the Tchebycheff polynomial of the first kind, i.e.,

$$T_n(x) = \cos n \arccos x$$
 for $x \in [-1, 1]$.

Set

$$||f|| := \max_{x \in [-1, 1]} |f(x)|.$$

In 1892 Vladimir Markov [2] proved the inequality

1.1.2

$$||f^{(k)}|| \leq ||T_n^{(k)}|| ||f||, \quad k = 1, ..., n,$$

* Research sponsored by the Bulgarian Ministry of Science under Contract MM-414.

1.1.5

for every $f \in \pi_n$. A remarkable extension of this classical result was given by Duffin and Schaeffer [1]. They showed that

$$|f^{(k)}(x+iy)| \leq |T_n^{(k)}(1+iy)|, \qquad k=1, ..., n,$$
(1.1)

for every $x \in [-1, 1]$, $y \in (-\infty, \infty)$ and every polynomial $f \in \pi_n$ provided

$$|f(\eta_i^{(n)})| \leq 1, \quad j = 0, ..., n_j$$

where $\eta_j^{(n)} := \cos(j\pi/n)$ are the points of local extrema of $T_n(x)$ in [-1, 1]. Clearly (1.1) implies

$$||f^{(k)}|| \leq ||T_n^{(k)}||, \quad k = 1, ..., n.$$
 (1.2)

Recently A. Shadrin [5] simplified the original proof of Markov and showed how inequality (1.1) can be deduced from Markov's work in the particular case y = 0. Shadrin studied the more general question concerning the exact estimation of $||f^{(k)}||$ provided |f(x)| is bounded by |q(x)| at the set

$$-1 = t_0(q) < t_1(q) < \dots < t_n(q) = 1$$

of extremal points of a given polynomial q from π_n $(q'(t_j) = 0, j = 1, ..., n-1)$. He proved the following

THEOREM A. Let q be any fixed polynomial of degree n with n distinct zeros in (-1, 1). Suppose that $f \in \pi_n$ and

$$|f(t_j(q))| \le |q(t_j(q))|, \quad j = 0, ..., n.$$
 (1.3)

Then, for every $x \in [-1, 1]$ *and* k = 1, ..., n*,*

$$|f^{(k)}(x)| \leq \max\left\{ |q^{(k)}(x)|, \left| \frac{1}{k} (x^2 - 1) q^{(k+1)}(x) + xq^{(k)}(x) \right| \right\}.$$
(1.4)

Shadrin mentioned also that for k = n and k = n - 1 one can easily derive from (1.4) that the assumptions of Theorem A imply

$$\|f^{(k)}\| \le \|q^{(k)}\|. \tag{1.5}$$

Does the inequality hold for every $k \in \{1, 2, ..., n\}$? Shadrin gave a simple counterexample which shows that (1.5) is not true in general for each admissible q and k. Despite of the efforts of many mathematicians no other example was found in which the conditions (1.3) imply (1.5) except the case $q = T_n$ given by Duffin and Schaeffer [1]. The purpose of this paper is to show that (1.5) holds if q is the ultraspherical polynomial $P_n^{(\alpha, \alpha)}$. Here

we use the notation $P_n^{(\alpha,\beta)}$ from the book of Szegö [6] for the Jacobi polynomials. Precisely, $P_n^{(\alpha,\beta)}$ is the polynomial from π_n which is orthogonal in [-1, 1] with weight

$$w(x) = (1-x)^{\alpha} (1+x)^{\beta}$$

to every polynomial of degree n-1 and normalized by the condition

$$P_n^{(\alpha,\beta)}(1) = \binom{n+\alpha}{n}.$$

Before concluding this section let us recall some of the basic properties of the Jacobi orthogonal polynomials which will be needed in the sequel. Properties:

(i) $(d/dx) P_n^{(\alpha,\beta)}(x) = \frac{1}{2}(n+\alpha+\beta+1) P_{n-1}^{(\alpha+1,\beta+1)}(x);$

(ii) for max{ α, β } $\geq -1/2$ the supremum norm of $P_n^{(\alpha,\beta)}$ is attained at an endpoint of [-1, 1]; in the case $\alpha = \beta \geq -1/2$, $||P_n^{(\alpha,\alpha)}|| = P_n^{(\alpha,\alpha)}(1) = \binom{n+\alpha}{n}$;

(iii) $y = P_n^{(\alpha,\beta)}$ satisfies the differential equation

$$(1 - x^2) y'' + (\beta - \alpha - (\alpha + \beta + 2) x) y' + n(n + \alpha + \beta + 1) y = 0.$$

The proof of these facts can be found in Szegö [6] or any other textbook on orthogonal polynomials.

2. The Case $\alpha \ge -\frac{1}{2}$

We demonstrate here a very simple proof of Duffin and Schaeffer type inequality for a class of ultraspherical polynomials using Theorem A of A. Shadrin.

THEOREM 2.1. Let $t_j := t_j(P_n^{(\alpha,\alpha)}), j = 0, ..., n$, be the extremal points of $P_n^{(\alpha,\alpha)}$ in [-1, 1] and $\alpha \ge -\frac{1}{2}$. Suppose that $f \in \pi_n$ and

$$|f(t_j)| \leq |P_n^{(\alpha,\alpha)}(t_j)|, \qquad j = 0, ..., n.$$

Then

$$\|f^{(k)}\| \le \left\|\frac{d^k}{dx^k} P_n^{(\alpha,\alpha)}\right\|$$

for all $k \in \{1, ..., n\}$.

Proof. It is well-known (see Rivlin [4], p. 158, Remark 1, or Szegö [6], pp. 95–96) that for $\alpha \ge -\frac{1}{2}$ the ultraspherical polynomials $P_n^{(\alpha,\alpha)}$ obey the representation

$$P_n^{(\alpha,\alpha)}(x) = \sum_{m=0}^n a_{n,m} T_m(x)$$

with nonnegative coefficients $\{a_{n,m}\}$. We shall use this fact to show that

$$\max_{x \in [-1,1]} \left| \frac{1}{k} (x^2 - 1) q^{(k+1)}(x) + xq^{(k)}(x) \right| = q^{(k)}(1) = ||q^{(k)}|| \qquad (2.1)$$

if $q = P_n^{(\alpha,\alpha)}$. Indeed, it was shown in Shadrin's paper [5] that (2.1) holds for $q = T_m$, m = 1, 2, ... Then for $q = P_n^{(\alpha,\alpha)}$ we have

$$\begin{aligned} \frac{1}{k} (x^2 - 1) q^{(k+1)}(x) + xq^{(k)}(x) \\ &= \left| \frac{1}{k} (x^2 - 1) \sum_{m=0}^n a_{n,m} T_m^{(k+1)}(x) + x \sum_{m=0}^n a_{n,m} T_m^{(k)}(x) \right| \\ &\leqslant \sum_{m=0}^n a_{n,m} \left| \frac{1}{k} (x^2 - 1) T_m^{(k+1)}(x) + x T_m^{(k)}(x) \right| \\ &\leqslant \sum_{m=0}^n a_{n,m} |T_m^{(k)}(1)| = q^{(k)}(1). \end{aligned}$$

Finally note that by Property (ii), $q^{(k)}(1) = ||q^{(k)}||$ for $q = P_n^{(\alpha,\alpha)}$. It remains to apply Theorem A. The proof is completed.

3. The Case $\alpha \ge -1$

Since the representation of $P_n^{(\alpha,\alpha)}$ in terms of Tchebycheff polynomials contains negative coefficients in the case $-1 < \alpha < -1/2$, we apply here another approach to extend the result of Theorem 2.1.

THEOREM 3.1. Let $\alpha \ge -1$ and $f \in \pi_n$. Then the assumptions

$$|f(t_j)| \leq |P_n^{(\alpha,\alpha)}(t_j)|, \qquad j = 0, ..., n,$$

imply

$$\|f^{(k)}\| \leqslant \left\|\frac{d^k}{dx^k} P_n^{(\alpha,\alpha)}\right\|.$$

for $k \in \{2, ..., n\}$.

As we mentioned already, the cases k = n - 1 and k = n follow immediately from Shadrin's result [5]. Thus we may stipulate in what follows that $1 < k \le n - 2$.

The proof of Theorem 3.1 is based on several auxiliary propositions. Denote $P_n^{(\alpha,\alpha)}$ by q, for simplicity, and set further

$$y(x) := q^{(k)}(x),$$

$$\varphi(x) := \frac{1}{k} (x^2 - 1) y'(x) + xy(x),$$

$$u(x) := \frac{1}{k} (x^2 - 1) y'(x).$$

(3.1)

Let us point out here that according to Property (i)

$$y(x) = C \cdot P_{n-k}^{(\alpha+k,\alpha+k)}(x)$$

with some positive constant C.

Observe that the function φ , we just defined, appears in the right hand side of the inequality (1.4) of Shadrin. Our goal is to show that

$$\|\varphi\| = \|y\| = y(1).$$

Then Theorem 3.1 could be derived easily from Shadrin's result. The next lemmas are steps towards this aim.

LEMMA 3.1. The inequality

$$\|\varphi\| \leq \max\{\|u\|, \|y\|\}$$

holds for all $k \in \{2, ..., n\}$, *if* $\alpha > -1$.

Proof. Clearly $|\varphi(\pm 1)| = y(1) = ||y||$. Then in order to compare the norm of φ with that of y, it suffices to consider the values of $\varphi(x)$ at its critical points. If τ is such a point, i.e., if $\varphi'(\tau) = 0$, then

$$(1 - \tau^2) y''(\tau) - (k+2) \tau y'(\tau) - ky(\tau) = 0.$$

On the other hand, since $y = C \cdot P_{n-k}^{(\alpha+k,\alpha+k)}$, Property (iii) yields

$$(1-x^2) y''(x) - 2(k+\alpha+1) xy'(x) + (n-k)(n+k+2\alpha+1) y(x) = 0.$$

Combining this relation at $x = \tau$ with the previous one, we get

$$(k+2\alpha) \tau . y'(\tau) = [(n-k)(n+k+2\alpha+1)+k] y(\tau).$$

Thus the functions x.y'(x) and y(x) (and consequently x.y(x) and y'(x)) have the same sign at the critical points of φ provided $k + 2\alpha \ge 0$. For such k and α ,

$$|\varphi(\tau)| \leq \max\left\{\frac{1}{k} (1-\tau^2) |y'(\tau)|, |\tau.y(\tau)|\right\}$$

and hence the proof is completed.

The next lemma can be found in the book of Tricomi [7].

LEMMA 3.2 (Theorem of Sonin–Pòlya). Let u(x) be a nontrivial solution of the differential equation

$$(pu')' + Pu = 0, (3.2)$$

where the functions p(x) and P(x) are continuously differentiable in the interval [a, b]. Let p(x) be positive on (a, b), P(x) have no zeros on [a, b] and let the function p(x) P(x) be nondecreasing (nonincreasing) on [a, b]. Then the absolute values of the successive local extrema of u in (a, b) form a nonincreasing (nondecreasing) sequence.

We intend to apply Lemma 3.2 to the function u, defined by (3.1). In order to do this we shall need the following.

LEMMA 3.3. The function $u(x) = (1/k)(x^2 - 1) y'(x)$ satisfies the differential equation

$$((1-x^2)^{k+\alpha}u')' + (1-x^2)^{k+\alpha-2} [(n-k+1) \times (n+k+2\alpha)(1-x^2) - 4(k+\alpha)] u = 0.$$
(3.3)

The proof is a direct verification, using the fact that y and its derivatives are ultraspherical polynomials, and therefore satisfy the corresponding differential equations (see Property (iii)).

The next two conclusions from the previous lemmas describe the behavior of the function u(x).

COROLLARY 3.1. All critical points of the function $u(x) = (1/k)(x^2-1) y'(x)$ are located in the interval $(-\beta, \beta)$, where β is the positive root of the equation

$$1 - x^2 = \frac{4(k+\alpha)}{(n-k+1)(n+k+2\alpha)}.$$

Proof. Assume the contrary. Then there exists a point $\tau \notin (-\beta, \beta)$, such that $u'(\tau) = 0$. Assume that $\tau \in [\beta, 1)$. The case $\tau \in (-1, -\beta]$ is treated similarly. Denote by p and P the corresponding functions in the differential equation (3.3). Set

$$g(x) := p(x) u(x) u'(x).$$

Clearly, g(1) = 0, and since $g(\tau) = 0$, Rolle's theorem guarantees the existence of a point $\eta \in (\beta, 1)$, such that $g'(\eta) = 0$. But, using the differential equation (3.3), we get

$$g'(x) = (p(x) u'(x))' u(x) + p(x) u'^{2}(x) = p(x) u'^{2}(x) - P(x) u^{2}(x)$$
$$= (1 - x^{2})^{k+\alpha} \left\{ u'^{2}(x) - \frac{y'(x)^{2}}{k^{2}} \left[(n - k + 1) \right] \right\}$$
$$\times (n + k + 2\alpha)(1 - x^{2}) - 4(k + \alpha) \right]$$

and therefore g'(x) > 0 for $x \in (\beta, 1)$, a contradiction. The corollary is proved.

COROLLARY 3.2. For $k \in \{2, ..., n-2\}$ and $\alpha > -1$, the local extrema of |u| increase when |x| increases.

Proof. Because of the symmetry we study the function |u(x)| only in the interval [0, 1].

With p and P the corresponding functions in equation (3.3) we obtain

$$\begin{split} (pP)' &= -2x(1-x^2)^{2k+2\alpha-3} \left\{ [2(k+\alpha)-1](n-k+1)(n+k+2\alpha)(1-x^2) \right. \\ &\quad -8(k+\alpha)(k+\alpha-1) \right\}. \end{split}$$

It is seen that (pP)' changes its sign at the point $x_0 \in (0, 1)$ satisfying the equality

$$1 - x_0^2 = \frac{8(k+\alpha)(k+\alpha-1)}{[2(k+\alpha)-1](n-k+1)(n+k+2\alpha)}.$$

Further, under the assumption of the proposition, we get

$$1 - x_0^2 < \frac{4(k+\alpha)}{(n-k+1)(n+k+2\alpha)},$$

which shows that $x_0 \in (\beta, 1)$. Therefore (p(x) P(x))' does not change sign in the interval $[0, \beta)$, containing all non-negative critical points of u,

and (p(x) P(x))' < 0 on this interval. The corollary then follows from Lemma 3.2.

Denote by ξ the last critical point of *u*. According to Corollary 3.2

$$\|u\| = |u(\xi)|.$$

The next lemma gives some more information about the critical point ξ .

LEMMA 3.4. (a)
$$\xi > \sqrt{3}/3$$
;
(b) $y'(\xi) < (\sqrt{3}/3) y'(1)$.

Proof. (a) By definition, $u'(\xi) = 0$. This is equivalent to

$$(1 - \xi^2) y''(\xi) = 2\xi y'(\xi).$$
 (3.4)

Since ξ is located to the right of the last zero of y' and y'(1) > 0, we conclude that $y'(\xi) > 0$, $y'''(\xi) > 0$. Further, using the fact that $y' = C \cdot P_{n-k-1}^{(k+\alpha+1, k+\alpha+1)}$ with C > 0, and the differential equation (iii), we get the relation

$$0 < (1 - \xi^2) \ y'''(\xi) = 2(k + \alpha + 2) \ \xi y''(\xi) - (n - k - 1)(n + k + 2\alpha + 2) \ y'(\xi).$$
(3.5)

Now replacing $y''(\xi) = (2\xi/(1-\xi^2)) y'(\xi)$ from (3.4) in the right hand side of (3.5) and making use of the observation $y'(\xi) > 0$, we obtain

$$1 - \xi^2 < \frac{4(k+\alpha+2)}{(n-k-1)(n+k+2\alpha+2)+4(k+\alpha+2)}.$$
(3.6)

But $k \leq n-2$ by assumption. This yields

$$1 - \xi^2 < \frac{4(k + \alpha + 2)}{(n + k + 2\alpha + 2) + 4(k + \alpha + 2)} \leqslant \frac{2}{3},$$

which leads to the assertion (a).

(b) Since y'' is an increasing function to the right of ξ ,

$$y'(1) - y'(\xi) = y''(\theta)(1 - \xi) > y''(\xi)(1 - \xi) = \frac{2\xi}{1 + \xi} y'(\xi)$$

(in the last equality we applied (3.4)). Hence

$$y'(\xi) < \frac{1+\xi}{1+3\xi} y'(1).$$

But (1 + x)/(1 + 3x) is a decreasing function of x in $(0, \infty)$. Using now the inequality $\xi > \sqrt{3}/3$ we get

$$y'(\xi) < \frac{1 + \sqrt{3/3}}{1 + \sqrt{3}} y'(1) = \frac{\sqrt{3}}{3} y'(1).$$

The lemma is proved.

Note that Lemma 3.1 and Corollary 3.2 remain true also for k = 1, if $\alpha \ge -1/2$.

Proof of Theorem 3.1. Let $\alpha > -1$. According to Theorem A, Lemma 3.1 and Corollary 3.2 the theorem will be proved if we show that $|u(\xi)| \leq y(1)$, i.e., if

$$\frac{1}{k}(1-\xi^2) \ y'(\xi) \le y(1).$$

By Lemma 3.4, and particularly by (3.6), the last inequality will hold if

$$\frac{1}{k} \frac{4(k+\alpha+2)}{(n-k-1)(n+k+2\alpha+2)+4(k+\alpha+2)} \frac{\sqrt{3}}{3} y'(1) \leq y(1),$$

or, after dividing by a constant factor, if

$$\frac{2\sqrt{3}(k+\alpha+2)(n+k+2\alpha+1)}{3k[(n-k-1)(n+k+2\alpha+2)+4(k+\alpha+2)]}P_{n-k-1}^{(k+\alpha+1,k+\alpha+1)}(1)$$

$$\leqslant P_{n-k}^{(k+\alpha,k+\alpha)}(1).$$

In view of Property (ii) this is equivalent to

$$\begin{split} & 2\sqrt{3} \; (k+\alpha+2)(n-k)(n+k+2\alpha+1) \\ & \leq 3k(k+\alpha+1)[\; (n-k-1)(n+k+2\alpha+2)+4(k+\alpha+2) \;]. \end{split}$$

Using the identity $(n-s)(n+s+2\alpha+1) = n(n+2\alpha+1) - s(s+2\alpha+1)$, after some straightforward calculations, the last inequality is reduced to

$$n(n+2\alpha+1) \ge (k+1)(k+2\alpha+2) - \frac{4(3k-\sqrt{3})(k+\alpha+1)(k+\alpha+2)}{3k(k+\alpha+1)-2\sqrt{3}(k+\alpha+2)},$$

which is obviously true for every $k \leq n-2$.

The case $\alpha = -1$ is obtained by going to the limit. The proof of the theorem is completed.

Some computer experiments give us a reason to suggest that Theorem 3.1 is valid for k = 1, too.

In the case $\alpha = -1$ the endpoints ± 1 are zeros of the ultraspherical polynomials and therefore the statement of Theorem 3.1 may be regarded as Duffin–Schaeffer's type inequality for polynomials satisfying zero boundary conditions. Precisely, the following theorem holds:

THEOREM 3.2. Let P_{n-1} be the (n-1)-st Legendre polynomial with zeros $\{\xi_i\}_1^{n-1}, 1 := \xi_0 > \xi_1 > \cdots > \xi_{n-1} > \xi_n := -1$. Let $Q_n(x) := (1-x^2) P'_{n-1}(x)$. If $P \in \pi_n$ satisfies the inequalities

$$|p(\xi_i)| \leq |Q_n(\xi_i)|, \quad i = 0, ..., n_i$$

then

$$||p^{(k)}|| \leq ||Q_n^{(k)}||$$
 for $k \in \{2, ..., n\}$.

In order to verify this one only have to take into account that $P_n^{(-1, -1)}(x) = c(1-x^2) P'_{n-1}(x)$, $((1-x^2) P'_{n-1}(x))' = -n(n-1) P_{n-1}(x)$, and derive the claim as a corollary of Theorem 3.1.

Theorem 3.2 is close in spirit to a result of Rahman and Schmeisser ([3], Theorem 2), where T_{n-1} occurs instead of P_{n-1} .

References

- R. J. DUFFIN AND A. C. SCHAEFFER, A refinement of an inequality of the brothers Markoff, Trans. Amer. Math. Soc. 50 (1941), 517–528.
- V. A. MARKOV, "On Functions of Least Deviation from Zero in a Given Interval," St. Petersburg, 1892 [in Russian]; Über Polynome, die in einem gegeben Intervalle möglichst wenig von Null abweichen, *Math. Ann.* 77 (1916), 213–258. [German translation]
- Q. I. RAHMAN AND G. SCHMEISSER, Markov–Duffin–Schaeffer inequality for polynomials with a circular majorant, *Trans. Amer. Math. Soc.* 310 (1988), 693–702.
- 4. T. J. RIVLIN, "The Chebyshev Polynomials," Wiley, New York, 1974.
- 5. A. YU. SHADRIN, Interpolation with Lagrange polynomials. A simple proof of Markov inequality and some of its generalizations, *Approx. Theory Appl.* 8 (1992), 51–61.
- 6. G. SZEGÖ, "Orthogonal Polynomials," Amer. Math. Soc., New York, 1959.
- 7. F. G. TRICOMI, "Differential Equations," Moscow, 1962. [in Russian]